DO NOT INVOICE TO THIS ADDRESS City and County of Denver

Purchasing Division 201 West Colfax Avenue Dept 304 Denver CO 80202 **United States**

0000089298

Vendor:

Phone: 720-913-8100 Fax: 720-913-8101

Phone:



Fax: 396-3531

		Dispatcii	via i iiii
Purchase Order	Date	Revision	Page
THTRS-000000282	23 06/15/2012		1 of 4
Payment Terms	Freight Terms		Ship Via
Net30	DESTINATION		Common
Buyer	Phone		Origin
Saporito, Josep	oh E Pu 720/913-8	118	REG

Ship To:

Theatres and Arenas 1245 Champa Street First Floor Denver CO 80204 **United States**

Bill To:

Accounts Payable

201 West Colfax Ave Dept 908

Disnatch via Print

720/913-8811 Denver CO 80202 **United States**

MUZAK LLC 3318 LAKEMONT BLVD FORT MILL SC 29708 United States

Tax Exempt? Y Tax Exempt ID: 98-02890-000

Line-Sch Vendor Part #/Description Mfg ID **Quantity UOM** PO Price Extended Amt Due Date 1.00 LOT 635,602.48 635,602.48 08/22/2012

1- 1 BOETTCHER CONCERT HALL AUDIO SYSTEM (ENGINEERING, MATERIALS, LABOR & INSTALLATION)

> Schedule Total 635,602.48

Unidentified items need to complete project - -

Manufacturer: DiGiCo / Part #: MOD-SDR-BLANK / Description: Rock blanks / Qty: 5 / \$37.13/ea Manufacturer: Whirlwind / Part #: Detail R1-1 / Description: Input panel 1 / Qty: 1 / \$953.12/ea Manufacturer: Whirlwind / Part #: Detail R1-2 / Description: Input panel 2 / Qty: 1 / \$884.80/ea Manufacturer: Whirlwind / Part #: Detail R1-AC / Description: Power panel / Qty: 1 / \$53.76/ea Manufacturer: Whirlwind / Part #: Detail R2 / Description: Digital interface panel / Qty: 1 / \$87.36/ea Manufacturer: Middle Atlantic / Part #: VT1 / Description: 1SP Perforated vent panel / Qty: 11 / \$7.88/ea Manufacturer: Middle Atlantic / Part #: VT2 / Description: 2SP Perforated vent panel / Qty: 4 / \$9.52/ea Manufacturer: Whirlwind / Part #: Custom access panel / Description: 12RU rack rail mounted hinged access panel / Qty: 2 / \$112.00

Manufacturer: Hoffman / Part #: ASG6X6X4NK / Description: Screw cover type 1 pull box galvanized no K/Os

/ Qty: 10 / \$13.38

Manufacturer: Hoffman / Part #: ASG12X12X6NK / Description: Screw cover type 1 pull box galvanized no

K/Os / Qty: 1 / \$30.18

Manufacturer: DiGiCo / Description: Training level 2 / Qty: 1 / \$1,182.72/day

PREVENTATIVE MAINTENANCE

During the warranty period, vendor shall provide a minimum of two (2) preventative maintenance services for inspection and any necessary adjustment of equipment. The vendor shall notify the City one (1) month prior to the service visit.

Preventative services shall include, but are not limited to:

- Document arrival within on-site service log book
- Check log book for past service issues and repairs
- Do physical, visual inspection of complete sound system to include microphones, connector boxes & plates, mass connectors, trunks, fan-out cables, console, portable computer, DSP, amplifiers, speaker cabling and speakers
- Test each analog input and output connection for level, polarity & THD+N
- Audio signal sweep test each amplifier channel for audible function test
- Test each amplifier load for impedance changes
- Function test LA Network Manager System
- Check system sound quality with Smaart v.7 at pre-tested location and compare plots
- Document test results, repair any issues found

(approximately 16-24 total hours of work per visit performed by 2 technicians).

During the course of the warranty period, all systems and components shall be repaired or replaced within (7) days following report by the City. Vendor shall provide temporary components that are equal to the items that cannot be repaired during the service visit within a timeframe necessitated by the activities inside the venue. This could possibly be as short as a four hour timeframe and can occur (7) days a week.

> Req ID: 0000051947 Item Total 635,602.48

DO NOT INVOICE TO THIS ADDRESS City and County of Denver

Purchasing Division 201 West Colfax Avenue Dept 304 Denver CO 80202 **United States**

0000089298

MUZAK LLC

Phone: 720-913-8100 Fax: 720-913-8101

Phone:



Fax: 396-3531

		Dispatcii	via Fillit
Purchase Order	Date	Revision	Page
THTRS-00000028	23 06/15/2012		2 of 4
Payment Terms	Freight Terms		Ship Via
Net30	DESTINATION		Common
Buyer	Phone		Origin
Saporito Jose	oh E - Dii 720/913-8	118	REG

Ship To:

Theatres and Arenas 1245 Champa Street First Floor Denver CO 80204 **United States**

Bill To:

Accounts Payable 201 West Colfax Ave Dept 908 720/913-8811 Denver CO 80202

Dianatah via Brint

United States

3318 LAKEMONT BLVD FORT MILL SC 29708 United States

Tax Exempt ID: 98-02890-000 Tax Exempt? Y

Line-Sch Vendor Part #/Description Mfg ID **Quantity UOM** PO Price Extended Amt Due Date

Purchase made pursuant to Bidder's Proposal No: 6870 For further questions regarding this purchase, contact: Mark Najarian 720-865-4236

This Purchase Order is contingent on Council action in accordance with 3.2.6 (e) of the City Charter and is void without such action.

ORDINANCE NO.:

Vendor:

See Exhibit A for pricing detail

Total PO Amount

635,602.48

Any Discrepancies must be reconciled with the Purchasing Division Buyer before this order is filled.

This Purchase Order may contain an item or items issued pursuant to a Master Purchase Order(s) ("MPO") previously agreed to between the City and the Vendor. All of the terms and conditions of the MPO(s) referenced above shall govern the purchase of the related item(s). The Vendor acknowledges and agrees by accepting this Purchase Order: a) that for any item referencing an MPO and where the terms and conditions stated in this Purchase Order differ from the MPO(s) the PO terms are void and of no effect [unless agreed to in a separate written or electronic acknowledgment between the Vendor and the Director of Purchasing] and b) that where there is no MPO referenced above, the Vendor agrees to be bound by all of the terms and conditions of this Purchase Order.

GENERAL CONDITIONS OF PURCHASE:

- 1. Non-Exclusive: This Purchase Order is non-exclusive. City does not guarantee any minimum purchase other than as provided herein
- 2. Inspection and Acceptance: Vendor shall perform all services in accordance with the standard of care exercised by highly competent vendors who perform like or similar services. City may inspect all goods/services prior to acceptance. Payment does not constitute acceptance. Vendor shall bear the cost of any inspection/testing that reveal goods/services that are defective or do not meet specifications. City's failure to accept or reject goods/services shall not relieve Vendor from its responsibility for such goods/services that are defective or do not meet specifications nor impose liability on City for such goods/services. If any part of the goods/services are not acceptable to City, City may, in addition to any other rights it may have at law or in equity: (1) make a warranty claim; (2) repair and/or replace the goods or substitute other services at Vendor's expense; or (3) reject and return the goods at Vendor's cost and/or reject the services at Vendor's expense for full credit. Any rejected goods/services are not to be replaced without written authorization from City, and any such replacement shall be on the same terms and conditions contained in this Purchase Order.
- aumorization from City, and any such replacement shall be on the same terms and conditions contained in this Purchase Order.

 3. Shipping, Taxes and Other Credits and Charges: Vendor shall procure all permits and licenses; pay all charges, taxes and fees; and give all notices necessary and incidental to the fulfillment of this Purchase Order and all cost thereof have been included in the prices contained herein. City shall not be liable for the payment of taxes, late charges or penalties of any nature, except as required by D.R.M.C. § 20-107, et seq. The price of all goods/services shall reflect all applicable tax exemptions. City's Federal Registration No. is 98-02980. All pricing is F.O.B. destination unless otherwise specified. Shipments must be marked with Vendor's name, the Purchase Order number, and contain a delivery or packing slip. Vendor shall not impose any charges for boxing, crating, parcel post, insurance, handling, freight, express or other similar charges or fees. Vendor shall notify City in writing of any price decreases immediately, and City shall receive the benefit thereof on all unshipped items. Vendor shall comply with any additional delivery terms specified herein. Vendor shall be responsible for the cleanup and reporting of any contamination (environmental or otherwise) or spillage resulting from the delivery and/or unloading of goods within twenty-four (24) hours of the contamination or spillage or sooner if required by law. Vendor shall pay all sales and use taxes levied by City on any tangible personal property built into the goods/services. Vendor shall obtain a Certificate of Exemption from the State of Colorado Department of Revenue prior to the purchase of any materials to be built into the goods/services and provide a copy of the Certificate to City prior to final payment.
- 4. Risk of Loss: Vendor shall bear the risk of loss, injury or destruction of goods prior to delivery to City. Loss, injury or destruction shall not release Vendor from any
- 5. Invoice: Each invoice shall include: (i) the purchase order number; (ii) individual itemization of the goods/services; (iii) per unit price, extended and totaled; (iv) quantity ordered, back ordered and shipped; (v) an invoice number and date; (vi) ordering department's name and "ship to" address; and (vii) agreed upon payment terms set forth herein.
- ordered, back ordered and snipped; (v) an invoice number and date; (vi) ordering department's name and "snip to" address; and (vii) agreed upon payment terms set form nerein.

 6. Payment: Payment shall be subject to City's Prompt Payment Ordinance D.R.M.C. § 20-107, et-seq. after City accepts the goods/services. City's payment obligations hereunder, whether direct or contingent, shall extend only to funds appropriated by the Denver City Council for the purpose of this Purchase Order, encumbered for the purpose of this Purchase Order and paid into the Treasury of City. Vendor acknowledges that: (i) City does not by this Purchase Order, irrevocably pledge present cash reserves for payments in future fiscal years; and (ii) this Purchase Order is not intended to create a multiple-fiscal year direct or indirect debt or financial obligation of City. City may setoff against any payments due to Vendor any claims and/or credits it may have against Vendor under this Purchase Order.

 7. Amendments/Changes: Only the Manager of General Services or his delegate is authorized to change or amend this Purchase Order by a formal written change order. Any change or amendment that would cause the aggregate payable under this Purchase Order to exceed the amount appropriated and encumbered for this Purchase Order is expressly prohibited and of no effect. Vendor shall verify that the amount appropriated and encumbered is sufficient to cover any increase in cost due to changes or amendments. Goods/services provided without such verification are provided at Vendor's risk. The Vendor has no authority to bind City on any contractual matters.

 8. Warranty: Vendor warrants and guarantees to City that all goods furnished under this Purchase Order are free from defects in workmanship and materials, are merchantable, and fit

DO NOT INVOICE TO THIS ADDRESS City and County of Denver

Purchasing Division 201 West Colfax Avenue Dept 304 Denver CO 80202 **United States**

0000089298

Vendor:

Phone: 720-913-8100 Fax: 720-913-8101

Phone:



		Dispatcii	via Fillit
Purchase Order	Date	Revision	Page
THTRS-0000002	823 06/15/2012	2	3 of 4
Payment Terms	Freight Terms		Ship Via
Net30	DESTINATION		Common
Buyer	Phone		Origin
Saporito, Jos	eph E Pu 720/913-	8118	REG

Ship To:

Theatres and Arenas 1245 Champa Street First Floor Denver CO 80204 **United States**

Bill To:

Accounts Payable 201 West Colfax Ave Dept 908 720/913-8811 Denver CO 80202

Dianatah via Brint

United States

MUZAK LLC 3318 LÄKEMONT BLVD FORT MILL SC 29708 United States

Tax Exempt ID: 98-02890-000 Tax Exempt? Y

Mfg ID Extended Amt Due Date Line-Sch Vendor Part #/Description **Quantity UOM** PO Price

for the purposes for which they are to be used. For any goods furnished under this Purchase Order which become defective within twelve (12) months (unless otherwise specified) after date of receipt by City, Vendor shall either, at City's election and to City's satisfaction, remedy any and all defects or replace the defective goods at no expense to City within seven (7) days of receipt of the defective goods or accept the defective goods for full credit and payment of any return shipping charges. Vendor shall be fully responsible for any and all warranty work, regardless of third party warranty coverage. Vendor shall furnish additional or replacement parts at the same prices, conditions delineated herein.

Fax: 396-3531

delineated herein.

9. Indemnification/Limitation of Liability: Vendor shall indemnify and hold harmless City (including but not limited to its employees, elected and appointed officials, agents and representatives) against any and all losses (including without limitation, loss of use and costs of cover), liability, damage, claims, demands, actions and/or proceedings and all costs and expenses connected therewith (including without limitation attorneys' fees) that arise out of or relate to any claim of infringement of patent, trademark, copyright, trade secret or other intellectual property right related to this Purchase Order or that are caused by or the result of any act or omission of Vendor, its agents, suppliers, employees, or representatives. Vendor's obligation shall not apply to any liability or damages which result solely from the negligence of City. City shall not be liable for any consequential, incidental, indirect, special, reliance, or punitive damages or for any lost profits or revenues, regardless of the legal theory under which such liability is asserted. In no event shall City's aggregate liability exceed upon cost for hose goods/services that have been accepted by City under this Purchase Order up to the Total Purchase Order Amount. Notwithstanding anything contained in this Purchase Order to the contrary, City in no way limits or waives the rights, immunities and protections provided by C.R.S. § 24-10-101, et seq.

10. Termination: City may terminate this Purchase Order, in whole or in part, at any time and for any reason immediately upon written notice to Vendor. In the event of such a termination, City's sole liability shall be limited to payment of the amount due for the goods/services accepted by City. Vendor acknowledges the risks inherent in this termination for convenience and expressly accepts them. Termination by City shall not constitute a waiver of any claims City may have against Vendor.

- 11. Interference: Vendor shall notify the Director of Purchasing immediately of any condition that may interfere with the performance of Vendor's obligations under this Purchase Order and confirm such notification in writing within twenty-four (24) hours. City's failure to respond to any such notice shall in no way act as a waiver of any rights or remedies City may possess.

 12. Venue, Choice of Law and Disputes: Venue for all legal actions shall lie in the District Court in and for City and County of Denver, State of Colorado, and shall be governed by the laws of the State of Colorado as well as the Charter and Revised Municipal Code, rules, regulations, Executive Orders, and fiscal rules of City. All disputes shall be resolved by administrative hearing, pursuant to the procedure established by D.R.M.C.§ 56-106. Director of Purchasing shall render the final determination.
- 13. Assignment/No Third Party Beneficiary: Vendor shall not assign or subcontract any of its rights or obligations under this Purchase Order without the written consent of City. In the event City permits an assignment or subcontract, Vendor shall continue to be liable under this Purchase Order and any permitted assignee or subcontractor shall be bound by the terms and conditions contained herein. This Purchase Order is intended solely for the benefit of City and Vendor with no third party beneficiaries
- 14. Notice: Notices shall be made by Vendor to the Director of Purchasing and by City to Vendor at the addresses provided herein, in writing sent registered, return receipt
- 14. Notice: Notices shall be made by vertical to the product of th

15. Compliance wint Laws. Verticol strain observe and curripty wint an integral, aster, country, and an oursel rare, cooks, studied, and its Purchase Order, or admits culpability to a criminal offense of bribery, kickbacks, collusive bioding, bid-rigging, antitrust, fraud, undie influence, theft, racketeering, extortion or any offense of a similar nature.

16. Insurance. Vendor shall secure, before delivery of any goods/services, the following insurance covering all operations, goods and services provided to City. Vendor shall keep the required insurance coverage in force at all times during the term of the Purchase Order, or any extension thereof, during any warranty period, and for three (3) years after termination of this Purchase Order. The required insurance stable be underwritten by an insurer licensed to do business in Colorado and rated by A.M. Best Company as "A-VIII or better. Each policy shall contain a valid provision stating" Should any of the above-described policies be cancelled or non-renewed and effect by A.M. Best Company as "A-VIII or better." Each policy shall contain a valid provision stating" Should any of the above-described policies be cancelled or non-renewed shall be sent thirty (30) days prior to such cancellation or non-renewal unless due to non-payment of premiums for which notice shall be sent ten foll days prior." Additionally, Vendor shall provide written notice of cancellation, non-renewal and any reduction in coverage to the address above by certified mail, return receipt requested. If any policy is in excess of a adductible or self-insurance requirements and these requirements do not lesses or limit the liability of Vendor. Vendor shall provide a copy of this Purchase order as the insurance provide and provide a copy of this Purchase order and the purchase order or any of the City's rights or remedies under this Agreement. The City's Risk Management Office insurance to other provide insurance that does not comply with all insurance tequirements of this Purchase Order shall not

- 17. Severability: If any provision of this Purchase Order, except for the provisions requiring appropriation and encumbering of funds and limiting the total amount payable by City, is held to be invalid, illegal or unenforceable by a court of competent jurisdiction, the validity of the remaining portions or provisions shall not be affected if the intent of City and Vendor can be fulfilled.

 18. Survival: All terms and conditions of this Purchase Order which by their nature must survive termination/expiration shall so survive. Without limiting the foregoing, Vendor's insurance, warranty and indemnity obligations shall survive for the relevant warranty or statutes of limitation period plus the time necessary to fully resolve any claims, matters or actions begun within that period. Bonds shall survive as long as any warranty period.

 19. No Construction Against Drafting Party: No provision of this Purchase Order shall be construed against the drafter.

 20. Status of Vendor/Ownership of Work Product: Vendor is an independent contractor retained on a contractual basis to perform services for a limited period of time as described in Section 9.1.1E(x) of the Charter of City. Vendor and its employees are not employees or officers of City under Chapter 18 of the D.R.M.C. for any purpose whatsoever. All goods,

DO NOT INVOICE TO THIS ADDRESS City and County of Denver

Purchasing Division 201 West Colfax Avenue Dept 304 Denver CO 80202 **United States**

0000089298

Vendor:

Phone: 720-913-8100 Fax: 720-913-8101

Phone:



			Dispatcii	via Fillit
Purchase Order	Da	ate	Revision	Page
THTRS-0000002	823 06/3	15/2012		4 of 4
Payment Terms	Freight Terms	S		Ship Via
Net30	DESTINATION	1		Common
Buyer	Pl	none		Origin
Saporito, Jos	eph E Pu 72	20/913-81	18	REG

Ship To:

Theatres and Arenas 1245 Champa Street First Floor Denver CO 80204 **United States**

Bill To:

Accounts Payable 201 West Colfax Ave Dept 908 720/913-8811

Dianatah via Brint

Denver CO 80202 **United States**

MUZAK LLC 3318 LAKEMONT BLVD FORT MILL SC 29708 United States

Tax Exempt ID: 98-02890-000 Tax Exempt? Y

Line-Sch Vendor Part #/Description Mfg ID **Quantity UOM** PO Price Extended Amt Due Date

deliverables, hardware, software, plans, drawings, reports, submittals and all other documents or things furnished to City by Vendor shall become and are the property of City,

without restriction.
21. Records and Audits: Vendor shall maintain for three (3) years after final payment hereunder, all pertinent books, documents, papers and records of Vendor involving transactions related to this Purchase Order, and City shall have the right to inspect and copy the same.
22. Remedies/Waiver: No remedy specified herein shall limit any other rights and remedies of City at law or in equity. No waiver of any breach shall be construed as a waiver of any

Fax: 396-3531

- other breach.

 23. No Discrimination in Employment: Vendor shall not refuse to hire, discharge, promote or demote, or to discriminate in matters of compensation against any person otherwise qualified, solely because of race, color, religion, national origin, gender, age, military status, sexual orientation, marital status, or physical or mental disability; and Vendor shall insert the foregoing provision in any subcontracts hereunder.

 24. Use, Possession or Sale of Alcohol or Drugs: Vendor shall cooperate and comply with the provisions of Executive Order 94. Violation may result in City terminating this Purchase Order or barring Vendor from City facilities or from participating in City operations.

 25. Conflict of Interest: No employee of City shall have any personal or beneficial interest in the goods/services described in this Purchase Order; and Vendor shall not hire or contract for services any employee or officer of City which would be in violation of City's Code of Ethics, D.R.M.C. §2-51, et seq. or the Charter §§ 1.2.8, 1.2.9, and 1.2.12.

- 26. Advertising and Public Disclosure: Vendor shall not reference the goods/services provided hereunder in any of its advertising or public relations materials without first

26. Advertising and Public Disclosure: Vendor shall not reference the goods/services provided hereunder in any of its advertising or public relations materials without first obtaining the written approval of the Manager of General Services.

27. NO EMPLOYMENT OF ILLEGAL ALIENS TO PERFORM WORK UNDER THE AGREEMENT: a. This Agreement is subject to Division 5 of Article IV of Chapter 20 of the Denver Revised Municipal Code, and any amendments (the "Certification Ordinance"). b. The Contractor certifies that: (1) At the time of its execution of this Agreement, it does not knowingly employ or contract with an illegal alien who will perform work under this Agreement. (2) It will participate in the E-Verify Program, as defined in § 8 17.5-101(3.7), C.R.S., to confirm the employment eligibility of all employees who are newly hired for employment to perform work under this Agreement. (2) It shall not enter into a contract with a subconsultant or subcontractor that fails to certify to the Contractor that it shall not knowingly employ or contract with an illegal alien to perform work under the Agreement. (3) It has confirmed the employment eligibility of all employees who are newly hired for employment to perform work under the Agreement, through participation in the E-Verify Program, (4) It is prohibited from using the E-Verify Program procedures to undertake pre-employment reseeming of job applicants will performing its obligations under the Agreement, and that otherwise requires the Contractor to comply with any and all federal requirements related to use of the E-Verify Program including, by way of example, all program requirements related to employee notification and preservation of employee rights.

(5) If it obtains actual knowledge that a subconsultant or subcontractor performing work under the Agreement knowingly employs or contracts with an illegal alien, it will notify such subconsultant or subcontractor obes not stop employing or contractor will also then terminate such subconsultant or subcontractor of ose not

Authorized Signature

me futy

EXHIBIT A

PROPOSAL ITEMS

	Center Main Array								Muzak, LLC			
Item No. Qty. Description Mfr. Model Uom							nit Price	Ex	tended Price			
		Full range										
1	6	speaker	LAcoustics	ARCII	Ea	\$	5,229.83	\$	31,378.98			
							·		<u> </u>			
2	2	Rigging element	LAcoustics	BUMP3	Ea	\$	224.03	\$	448.06			
3	1	Lifting Bar	LAcoustics	LIFTBAR	Ea	\$	332.18	\$	332.18			
		Amplified	T									
4	1	controller	LAcoustics	LA8	Ea	\$	7,508.70	\$	7,508.70			
		Interconnect										
5	1	cables	Custom	per drawings	Ea	\$	112.00	\$	112.00			
				Center 1	Main Array			\$	39,779.92			
House Lef	ft Mair	ı Array										
		Full range	 									
6	4	speaker	LAcoustics	ARCII	Each	\$	5,229.83	\$	20,919.32			
			6									
7	1	Rigging element	LAcoustics	BUMP3	Each	\$	224.03	\$	224.03			
		Amplified	ë									
8	1	controller	LAcoustics	LA8	Each	\$	7,508.70	\$	7,508.70			
		Interconnect										
9	1	cables	Custom	per drawings	Each	\$	84.00	\$	84.00			
				House Left 1	Main Array			\$	28,736.05			
House Rig	ght Ma	in Array										
		Full range										
10	4	speaker	LAcoustics	ARCII	Each	\$	5,229.83	\$	20,919.32			
			• · · · · · · · · · · · · · · · · · · ·									
11	1	Rigging element	LAcoustics	BUMP3	Each	\$	224.03	\$	224.03			
		Amplified										
12	1	controller	LAcoustics	LA8	Each	\$	7,508.70	\$	7,508.70			
		Interconnect	6 : :									
13	1	cables	Custom	per drawings	Each	\$	84.00	\$	84.00			
				House Right I	Main Array			\$	28,736.05			
Rear Mair	n Arra	y										
		Full Range										
14	3		LAcoustics	ARCII	Each	\$	5,229.83	\$	15,689.49			
		Rigging										
15	2	Element	LAcoustics	BUMP3	Each	\$	224.03	\$	448.06			
16	1	Lifting Bar	LAcoustics	LIFTBAR	Each	\$	332.18	\$	332.18			
		Amplified										
17	0.5	Controller	LAcoustics	LA8	Each	\$	7,508.70	\$	3,754.35			
		Interconnect										
18	1	Cables	Custom	per drawings	Each	\$	67.20	\$	67.20			
·		-	-	Rear I	Main Array			\$	20,291.28			

Rear & Side Fill Speakers	Upper Fil	ll Speal	kers			•				
19 3 Speaker LAcoustics ARCII Each \$ 5,229.83 \$ 15,689.49		1	Full Range							
1.5 Amplified Controller LAcoustics LA8 Each \$ 7,508.70 \$ 11,263.05	19	3		LAcoustics	ARCII	Each	\$	5,229.83	\$	15,689.49
1.5 Amplified Controller LAcoustics LA8 Each \$ 7,508.70 \$ 11,263.05	20	3	Rigging Bumper	LAcoustics	ARCBUMP	Each	\$	888.38	\$	2,665.14
Interconnect Custom per drawings Each \$ 67.20			Amplified							
Custom per drawings Each \$ 67.20 \$ 67.20	21	1.5		LAcoustics	LA8	Each	\$	7,508.70	\$	11,263.05
Rear & Side Fill Speakers	22	1		Custom	per drawings	Each	\$	67.20	\$	67.20
23 8 Speaker LAcoustics KIVA Each \$ 2,510.63 \$ 20,085.04					Upper Fil	l Speakers			\$	29,684.88
23 8 Speaker LAcoustics KIVA Each \$ 2,510.63 \$ 20,085.04	Rear & S	ide Fill	l Speakers							
23 8 Speaker LAcoustics KIVA Each \$ 2,510.63 \$ 20,085.04										
24	23	8	-	LAcoustics	KIVA	Each	\$	2,510.63	\$	20,085.04
24								,		
Amplified Controller LAcoustics LA4 Each \$ 4,897.65 \$ 4,897.65	24	4		LAcoustics	KIET	Each	\$	370.80	\$	1,483,20
Interconnect Custom per drawings Each \$ 156.80 \$ 156.80 \$ 26,622.69							Ψ.	270.00	Ψ	1,100,20
Cable Custom per drawings Each \$ 156.80 \$ 156.80	25	1	Controller	LAcoustics	LA4	Each	\$	4,897.65	\$	4,897.65
Rear & Side Fill Speakers \$ 26,622.69			•							
Portable Front Fill Speakers	26	1	Cables	Custom	<u>.</u> 1		\$	156.80	\$	
Full Range Speaker LAcoustics KIVA Each \$ 2,510.63 \$ 20,085.04					Rear & Side Fil	l Speakers			\$	26,622.69
27 8 Speaker LAcoustics KIVA Each \$ 2,510.63 \$ 20,085.04	Portable 1	Front 1	Fill Speakers							
Rigging		l	Full Range							
28 8 Element LAcoustics KIET Each \$ 370.80 \$ 2,966.40	27	8		LAcoustics	KIVA	Each	\$	2,510.63	\$	20,085.04
Amplified Controller LAcoustics LA4 Each \$4,897.65 \$4,897.65 30		_								
1 Controller LAcoustics LA4 Each \$ 4,897.65 \$ 4,897.65 30	28	8		LAcoustics	KIET	Each	\$	370.80	\$	2,966.40
Interconnect cables	•		-					4.00= 4.5	Φ.	4.005.65
Custom Per drawings Each \$ 156.80 \$ 156.80 \$ 28,105.89	29	1		LAcoustics	LA4	Each	\$	4,897.65	\$	4,897.65
Portable Front Fill Speakers \$ 28,105.89	30	1	•	Custom	ner drawings	Fach	Φ	156.80	•	156 80
Speaker s		<u> </u>	cuotes	Custom			Ψ	130.00		
8" Coaxial Speaker w/x- AMK CX802T70V15 Each \$ 51.52 \$ 3,348.80	Dietvikut	ad Spac	ı Iz ova		Tortable From Fit	і эреикегз			φ	20,103.07
Speaker w/x- former	Distribute	eu Speu		:	<u> </u>				1	
31 65 former AMK CX802T70V15 Each \$ 51.52 \$ 3,348.80 32 1 Amplifier Lab Gruppen C16:4 Each \$ 2,070.88 \$ 2,070.88 Distributed Speakers 33 4 Subwoofer Speakers SB28 Each \$ 5,075.33 \$ 20,301.32 34 1 Controller LAcoustics LA8 Each \$ 7,508.70 \$ 7,508.70 35 1 Cables Custom per drawings Each \$ 112.00 \$ 112.00 Portable Subwoofer Speakers			:							
4 Channel	31	65		AMK	CX802T70V15	Fach	\$	51 52	\$	3 348 80
32 1 Amplifier Lab Gruppen C16:4 Each \$ 2,070.88 \$ 2,070.88 Distributed Speakers \$ 5,419.68 Portable Subwoofer Speakers LAcoustics SB28 Each \$ 5,075.33 \$ 20,301.32 Amplified Amplified LAcoustics LA8 Each \$ 7,508.70 \$ 7,508.70 34 1 Controller LAcoustics LA8 Each \$ 7,508.70 \$ 7,508.70 35 1 Cables Custom per drawings Each \$ 112.00 \$ 112.00 Portable Subwoofer Speakers \$ 27,922.02		0.5		111111	011002170713	Lucii	Ψ	31.32	Ψ	3,3 10.00
Distributed Speakers \$ 5,419.68	32	1	•	Lab Gruppen	C16:4	Each	\$	2,070.88	\$	2,070.88
Portable Subwoofer Speakers 33 4 Subwoofer LAcoustics SB28 Each \$ 5,075.33 \$ 20,301.32 Amplified Amplified LAcoustics LA8 Each \$ 7,508.70 \$ 7,508.70 Interconnect Interconnect Custom per drawings Each \$ 112.00 \$ 112.00 Portable Subwoofer Speakers \$ 27,922.02			•	i	Distributed	d Speakers				5,419.68
33 4 Subwoofer Amplified LAcoustics SB28 Each \$ 5,075.33 \$ 20,301.32 34 1 Controller LAcoustics LA8 Each \$ 7,508.70 \$ 7,508.70 35 1 Cables Custom per drawings Each \$ 112.00 \$ 112.00 Portable Subwoofer Speakers \$ 27,922.02	Portable :	Subwo	ofer Speakers			-				
34 1 Controller Controller LAcoustics LA8 Each \$ 7,508.70 \$ 7,508.70 35 1 Cables Custom per drawings Each \$ 112.00 \$ 112.00 Portable Subwoofer Speakers \$ 27,922.02			• •	LAcoustics	SB28	Each	\$	5,075.33	\$	20,301.32
Interconnect Custom per drawings Each \$ 112.00 \$ 112.00 Portable Subwoofer Speakers \$ 27,922.02										
35 1 Cables Custom per drawings Each \$ 112.00 \$ 112.00 Portable Subwoofer Speakers \$ 27,922.02	34	1		LAcoustics	LA8	Each	\$	7,508.70	\$	7,508.70
Portable Subwoofer Speakers \$ 27,922.02	25	1		Contain		ъ.		112.00	Φ.	440.00
	33	1	Cables	Custom	<u> </u>		\$	112.00		
TOTAL FOR GROUP A: \$ 235,298.46				1		r Speakers				·
				TOTAL F	OR GROUP A: \$				\$	235,298.46

\$160,020.56	\$ 160,020.56
\$ 2,640.61	\$ 2,640.61
\$ 7,613.76	\$ 7,613.76
\$ 5,560.35	\$ 5,560.35
\$ 1,421.24	\$ 12,791.16
\$ 899.81	\$ 3,599.24
\$ 639.62	\$ 1,918.86
\$ 2,238.88	\$ 2,238.88
Ψ 2,230.00	Ψ 2,230.00
\$ 1,514.53	\$ 1,514.53
Ψ 1,514.55	Ψ 1,314.33
\$ 425.59	\$ 425.59
Ψ +23.37	Ψ23.37
\$ 219.63	\$ 219.63
Ψ 217.03	Ψ 217.03
\$ 148.95	\$ 148.95
, , , ,	\$ 198,692.12
	\$ 198,692.12
	,
\$ 5,671.68	\$ 5,671.68
, ,	
\$ 865.37	\$ 1,730.74
\$ 25.38	\$ 609.12
\$ 37.50	\$ 37.50
\$ 3,459.68	\$ 3,459.68
\$ 603.68	\$ 603.68
\$ 364.00	\$ 364.00
\$ 2,686.88	\$ 5,373.76
	\$ 17,850.16
	\$ 17,850.16
\$ 364.00	\$ 364.00 \$ 5,373.76 \$ 17,850.16

Cable & 1	incijac	12ch Mini Drop		<u> </u>			
56	6	Box	Whirlwind	per drawings	Each	\$ 246.40	\$ 1,478.40
		Speaker Plug	& ! !		•		,
57	2	Box	Custom	per drawings	Each	\$ 43.68	\$ 87.36
		Catwalk Plug	• · · · · · · · · · · · · · · · · · · ·				
58	6	Box	Custom	per drawings	Each	\$ 56.11	\$ 336.66
59	1	FOH Plug Box	Custom	per drawings	Each	\$ 81.76	\$ 81.76
		Broadcast Plug					
60	1	Box	Custom	per drawings	Each	\$ 81.76	\$ 81.76
		Recording Control Plug					
61	1	Box	Custom	per drawings	Each	\$ 604.80	\$ 604.80
		Stage Interface					
62	1	Plug Box	Custom	per drawings	Each	\$ 693.28	\$ 693.28
63	6	12ch Input Fans	Whirlwind	per drawings	Each	\$ 287.84	\$ 1,727.04
64	1	20ch Output Fan	Whirlwind	per drawings	Each	\$ 393.12	\$ 393.12
		12ch Extension					
65	6	25ft	Whirlwind	per drawings	Each	\$ 333.76	\$ 2,002.56
66	6	12ch Extension 50ft	Whirlwind	per drawings	Each	\$ 387.52	\$ 2,325.12
67	4	12ch Extension 75ft	Whirlwind	per drawings	Each	\$ 439.04	\$ 1,756.16
68	2	12ch Extension 100ft	Whirlwind	per drawings	Each	\$ 489.44	\$ 978.88
69	1	20ch Extension 25ft	Whirlwind	per drawings	Each	\$ 371.84	\$ 371.84
70	1	20ch Extension 10ft	Whirlwind	per drawings	Each	\$ 418.88	\$ 418.88
71	1		Custom	per drawings	Each	\$ 1,280.16	\$ 1,280.16
72	12	MADI Cable 5m Red	DigiCo	LEADS0043R	Each	\$ 37.23	\$ 446.76
73	12	MADI Cable 5m Blue	DigiCo	LEADS0043B	Each	\$ 37.23	\$ 446.76
74	TBD	Ethernet Cables	Generic	As required	Each	\$ 200.00	\$ 200.00
75	TBD	Wire and Cable	Belden	per drawings	Each	\$ 8,606.30	\$ 8,606.30
			Cable & Interface				\$ 24,317.60
	TOTAL FOR GROUP D: \$				\$ 24,317.60		

Assistive Listening System									
76	2	Transmitter	Listen Tech.	LT-82	Each	\$	501.59	\$	1,003.18
77	8	Emitter	Listen Tech.	LA-140-GY	Each	\$	578.76	\$	4,630.08
78	8	Emitter PSU	Listen Tech.	LA-205-01	Each	\$	42.95	\$	343.60
79	48	Receiver	Listen Tech.	LR-42	Each	\$	144.87	\$	6,953.76
	\$! !	Receiver,	6						
80	16	Lanyard	Listen Tech.	LR-44	Each	\$	123.03	\$	1,968.48
81	64	Battery Pack	Listen Tech.	LA-364	Each	\$	13.83	\$	885.12
	• · · · · · · · · · · · · · · · · · · ·	Charging	<u> </u>						
82	4	Station	Listen Tech.	LA-350	Each	\$	217.67	\$	870.68
	• · · · · · · · · · · · · · · · · · · ·	Replacement	• · · · · · · · · · · · · · · · · · · ·						
83	15	Ear Tips	Listen Tech.	LA-151 (20px/pack)	Each	\$	13.27	\$	199.05
84	16	Neck Loop	Listen Tech.	LA-166	Each	\$	40.04	\$	640.64
85	16	Headphones	Listen Tech.	LA-170	Each	\$	13.09	\$	209.44
86	4	Signage Kit	Listen Tech.	LA-304	Each	\$	13.00	\$	52.00
	•		•	Assistive Lister	ing Array			\$	17,756.03
			TOTAL	OR GROUP E: \$	8 ,			\$	17,756.03
			1011121	OR GROCI ZV					=1,123333
Micropho	ne & A	ccessories							
1		Active Direct							
87	6	Box	Radial	J48	Each	\$	147.84	\$	887.04
		Condenser	<u></u>		200011	Ψ.	11,,,,,,,	Ψ	
88	4	Microphone	AKG	C414-XLII	Each	\$	838.88	\$	3,355.52
	! !	Condenser	<u> </u>						
89	4	Microphone	Shure	KSM44A	Each	\$	873.60	\$	3,494.40
90	4	Shock Mount	Shure	A44ASM	Each	\$	106.40	\$	425.60
		Dynamic							
91	8	Supercardioid	Sennheiser	MD-441U	Each	\$	793.80	\$	6,350.40
	å	Cardioid							·
92	8	Microphone	Sennheiser	MD-421 II	Each	\$	335.16	\$	2,681.28
	 ! !	Stereo Piano							
93	1	Sensor	Helpinstill	Model 185	Each	\$	1,400.00	\$	1,400.00
	• · · · · · · · · · · · · · · · · · · ·	Condenser	Audio						
94	8	Microphone	Technica	AT4050 w/AT8449	Each	\$	588.00	\$	4,704.00
		Stereo							
95	1	Microphone Kit	DPA	3511	Each	\$	4,893.50	\$	4,893.50
		Ribbon							
96	4	Microphone	Royer	R-101	Each	\$	894.88	\$	3,579.52
		Ribbon							
97	4	Microphone	Royer	R-121	Each	\$	1,450.40	\$	5,801.60
	_	Kick				١.			
98	2	·•	Shure	Beta91A	Each	\$	212.80	\$	425.60
		Kick	~-			١.			
99	2	Microphone	Shure	Beta52A	Each	\$	151.20	\$	302.40
100	_	Drum	G1	D . 00 AD/G			20105		4.000.5
100	6	Microphone	Shure	Betqa98 AD/C	Each	\$	204.96	\$	1,229.76
101	4	Microphone	Shure	Beta 57	Each	\$	110.88	\$	443.52
102	6	Microphone	Shure	Beta 58	Each	\$	134.40	\$	806.40
102	_	Choir	NI	IZM140	Tr1-	Φ.	1 110 77	¢	(710.60
103 104	6 6	Microphones Hangers	Neumann Neumann	KM140 MNV100	Each	\$	1,118.77	\$	6,712.62
104	U	Tangers	reumann	14114 4 100	Each	Ф	97.33	Ф	583.98

	Microphone & Accessories		\$ 48,077.14			
	TOTAL FOR GROUP F: \$		\$ 48,077.14			
I	Completion Schedule in calendar days		32			
	Labor		\$ 27,219.00			
	Shipping		\$ -			
			\$ 569,210.51			
	Non identified parts					
	Miscella	neous hadware	\$9,811.07			
		Freight	\$5,920.14			
		Travel	\$1,500.00			
		Equipment	\$42,792.62			
		Lift rental	\$1,007.90			
	Bid Bond	(not required)	\$ -			
	E	ngineering Stan_	\$ 1,500.00			
	TOTAL PROJECT COST	Bid Total	\$ 635,602.39			
1) Preparation of submi	ttals, shop drawings, and system documentation.	56 Hours (not ch	naged to the City)			
2)	On site coordination meetings and supervision.	40				
3)	In shop engineering, fabrication, and assembly.	40				
4	On site fabrication, assembly, and installation.	354				
site Vendor Proof of Performance Te	sting and Acceptance Testing and System Tuning.	80				